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Reg. No.

V Semester B.Com. Degree Examination, April - 2022
COMMERCE ‘
Marketing of Banking Products (Elective)
(CBCS Scheme Regular 2019-20)
Paper : BK. 5.4

Time : 3 Hours ’ Maximum Marks : 70
Instructions to Candidates:

Answers should be Written either English or Kannada.

SECTION-A
QN — R

Answer any Five questions. Each question carries 2 marks. (5%2=10)
CIPYRTTR 5 THAGR WA, B B3R 2 LoD

L @)
. .
c)

d)

g)

What is Wholesale banking?
AMEd WOON DOTTEN?

Write the meaning of product modification?
SN FPTERY HOTBEN?

What do youmean by POS?
POS 20w3ed?

Name the two types of distribution channels of banking products.
apielielay NBINY DITHOD IPPYTTETR TR WIS’ ne, $90.

Write the meaning of Remittance.
O3 R0TTED?

Mention any two modes of funds transfer.
2o BIRERTBOD - 03VFRYTOWEL DT DRNTD, &PA.

Write the meaning of CRM.
CRM G ©TF 23000.
[P.T.O.
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; SECTION-B
NN - D
Answer any Three questions. Each question carries 5 marks, (3x5=15)

O3RPREte 3 BIReR G300, TS T3R5 wosned.

2.  Explain briefly types of retail banks.

BYT VOO AFTFR, AOTTmN DTOAD.

3. Briefly explain product life cycle of Banking products.
WOBOIT VTT, WeIT 3BT i XO3TW DTTH Jed.

4. Write a note on role of marketing officer in banking business.

WR030TF FITITRY BRIFLONR ©WHFTOOD TRDD, FOFTeON WO,

-

5.  Write any 5 differences between Debit card and Credit card.

BT wEE WD) IR PEAS DG, TR BRYDEIR 5 PIBNTD, 03000.

SECTION-C
2umr - 2
Answer any Three questions. Each question carries 15 marks. (3x15=45)

CSRYTRTEAR 3 FEAOR wv3dR. BS TIF 15 wosrish.

6.  Explain in detail various environmental factors affecting banking operations.

BR,007V TDOIOF BWTEBODE) WO DETLETE T[ORTT Q:BOE’ST#}?(TSDcl NWTN 0BOWD.
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T -

Write in detail factors influencing pricing decisions in banking preducts and services.

WROBOTY TRPE B, BN 236 DERFTBY TR WeddH ©OINITY, DBTTN
20TBOW0.

Explain in detail the role of promotion in marketing of banking products.

2080 THOHE Y SRIFLHONIY DT TZFW, DTN DTOA.

Explain in detail types of traditional and modern delivery channels.

TROTTONT TH), BT HITFe WIS FNIIY DRTN 2BD.
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V Semester B.Com./B.Com. LSCM/BCTT Degree Examination,
March/April - 2022
‘COMMERCE
Auditing and Corporate Governance
(CBCS Scheme Regular)
' Paper : 5.2

Time : 3 Hours : : Maximum Marks : 70
Instructions to Candidates: ML
Answers should be Written Completely either in English or in Kannada.

SECTION -A
TN — D

Answer any 5 sub-questions. Each sub-question catries 2 marks. (5%2=10)
APIRTBRL 5 @ — TINRIR 0BOR. T3 NWT-TI R 2 ©0BTILD.

1. a) Define Auditing.
3% BOReIoDDy, IR,

b)  Give the meaning of internal check.
BO308 TAWOPT LTFI, 39D,

¢) Whatis meantby vouching? -
eifg TEDBHIE DOTIER2 ‘

d) Whatis meant by contingent Liability?
FOLBBACOD c_:'ﬁ;ras—%’;rvaaé roﬁdem?

e) State any two principles of corporate Governance.
BOT BTES JTEBFHOD CIPRYTITTR ATE 6@1@534 SRR,

f)  Give the meaning of professional ethics.
3,8 a%éﬁéod; OBEBW, ed.

g) Whatis prirnary Voucher?

s e o D 2 J = e =2 PR P s
TPeT OF T BTV E00E 0BT emg
ot (%] -

[P.T.O.
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SECTION-B
Qen — D
Answer any Three questions. Each- question carries 5 marks. (3x5=15)

CIRYTHETL Ty IZNER Y00, TE JIR 5 ©OIND.

2.  What are the advantages and disadvantages of internal Audit?

©0308 I3, TOBRCTIOD DRBROINL TONH WTOTLOBNP))?

3. Distinguish between Accountancy and Auditing.

ci'ﬁﬁm@ DB 6%&’6&@@@%?@?\6&& BIANTI, 89A.

4. “Vouching is the essence of Auditing” - Analyze.

“TozmwdRNT STHOBREFHOD STWH” — DIFeAR.

5.  Explain the importance of corporate Governance.

303D Ee3 ARFBHOD WHBIF, VRO,

SECTION-C
Q[N — A
Answer any Three questions. Each question carries 15 marks. (3x15=45)

CITTRETL FRT> IFAON 08O, B3 TJNA 15 SOINW.

6. Explainrights and duties of a company Auditor.

BOTD Sy, TOZRGTT B, W FBEJNIDY, A=OA.




(TR A 3)

7.

How do you adopt internal ch;ck to the followiﬁg?

a)  Wage payment.

b)  Cash purchases,

81 FINIYNOR 0303 TEROTID, Ber ©STARN0.
a) DRRD Toeod

b) I Doed. :

How do you vouch the following items as an auditor?
a)  Receipt from Debtors.
b) Cashsales.

3 FPAS @oa’ﬁ@é@l 6@@6&@@53’» Ten qﬂéﬁeﬁbmagﬁ?

a) 9BRYOT Fomood,
b) INH Toovw.

How do you verify and value the following items?

a)  Goodwill

b)  Contingent Liabilities.

¢) Plant and machineries.

31 SNV St BOBODD s SPOTOHAO?
Qi 8‘@35—‘?}5’3@5

b) RoP=Reod BTOLDONED.

C) ODoSReTFTORED.

34522
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V Semester B.Com. Degree Examination, April - 2022
COMMERCE
Regulatory FrameWork of Banking
(CBCS Semester Scheme)
Paper : BK 5.3

Time : 3 Hours ‘ Maximum Marks : 70

Instructions to Candidates:

Answers should be Written completely either in English or in Kannada.
SECTION - A
QTN — D

Answer any Five sub-questions. Each sub-question carries 2 marks. (5x2=10)
3PNT CIRRHTREAR DT WB-BBNCR Y0BOR0. B3 WTB-TIN 2 ©OIND.

1 &)

b)

g)

Define banking.
‘méo%onﬁ" ), WATIA.

State any two grounds for the cancellation of licence granted to a banking company.
ERO0N" FOTIN VeBTRT TOTIBNODT, TERRRVALD BRPYTRBARL TT
SEONTRY, SPA.

‘Who is an ombudsman?
£.0208° 0T DOTT 0350T0Y?

Who is an Official Liquidator?

op3E O3Een” HOBS o357

What do you mean by money laundering?
. CROWOOIY OTBET?

What is Reserve fund?

© N[N IR’ HOTWBEHD?

What do you mean by winding up?
‘TOTF BT DOTITE?

[P.T.O.
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SECTION-B
NN - W

Answer any Three questions from the following. Each question carries S marks.(3%5=15)
39NT C3PFTTTR AT TFROR 0BOR. T FOOIPTW YVITF 5 WOTNWD.

Write a short note on RBI Act, 1934.
30°. 2.8, FoOWEW, 1934 T OB FL wmwsé 203000.

State any five conditions to be satisfied before granting a licence u/s 22.
QN 22 8 ©R0HY HBTTIN WD VAT BRTFICTITE VI [CBNTIW, 8YA.

Write a note on penalties under Banking Regulation Act.
ZROB0TF QOPOZED FPONWODRRODY ‘WoW” nef 2} - 1338 2TeWO.

What are the records to be maintained by every banking company as per money laundering
Act, 2002? :

TR CROBOOTT F0NTW, 2002 TRODY T WHOFONT FOTICK 3PET RDSNLR,
NRF BRI

SECTION - C
AR — 2
Answer any Three questions from the following. Each question carries 15 marks.(3x15=45)
39N cIPYHTR Fweth TJOR GOBOA. BB FORT Navciel-} BOZT LOIN.

Discuss the role of board of directors and chairman in a banking company.
ZROFONT BOTAONY, VWFETTT WOREY TNR BFTT TIVIY WIF R

Briefly explain the role of an ombudsman in a banking company.
ZROFONT BOBAONY LONT T TRITSY, FOFTmN DTOA.

Explain the provisions for amalgamation under Banking Regulation Act.
as'aéoz%ohf R0H0SEe FOPBODRODY HAEIT DWOFINTR), FoZTezoN D=[OA.

Briefly explain the various types-of endorsement.
DT 080D VWBREBINTRY, WOFTEION DBOA.
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Reg. No.

V Semester B.Com. Degree Examination, March/April - 2022
COMMERCE (COSTING METHOD)
Methods & Techniques of Cost Accounting
(CBCS Scheme Regular/Fresher)
Paper : AC 5.4

Time : 3 Hours , Maximum Marks : 70

~ Instructions to Candidates:

Answer the questions in English.
SECTION - A

Answer any FIVE of the following sub questions. Each question carries 2 marks.(5x2=10)

1. a) Whatisbatch costing?
b)  Give any four examples of industries where job costing is applicable.
c) Define process costing.
d) Whatis meant by work certified?
e) Whatis retention money? :
f)  State the industries in which operating costing is applied. ‘
gj What are cost drivers?
SECTION -B
Answer any THREE questions. Each question carries Smarks. . (3x5=15)

2.  Prepare a cost sheet from the following data.

Rawmaterials consumed Rs. 15,000
Direct labour Rs. 9,000
Machine hours worked Rs. 900

[P.T.O.
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Machine hour rate Rs. 5/-

Administrative overhead 20% on works cost
Selling overheads Rs. 0.50 per unit sold
Units produced 20,000

Units sold 18,000 at Rs. 4 per unit.

3. A company manufactured a product, 4,000 kgs of rawmaterials at Rs. 16 per kg were
supplied to process I. Labour cost amounted to Rs. 8,000 and production overhead
~ incurred was Rs. 4000. The normal loss was estimated 10% and it was sold for Rs. 4 per

kg. Actual production (out put) in the process was 3520 kgs.

Prepare process I account and the value of abnormal loss.

4. The following particulars relate to a contract work carried out during the year
ended 31 Dec 2021.

(in Rs.)
Work certified . 1,43,000
Cash received from contractee 1,30,000
Materials sent to site 64,500
Labour 56,600
Plant installed at site : 11,300
Value of the plant at the end 8,200
Cost of work not yet certified 3,400
Establishment charges 3,250
Direct expenditure 2,600
Materials on hand at the end . 1,400
Materials returned to stores 400
Contract price 2,00,000

Prepare the contract account for the year ended 31 Dec. 2021.
S. State the ObjCCﬁVé:S of Activity Based Costing.
SECTION - C
Answer any THREE of the following questions. Each carries 15 marks.  (3%X15=45)

6. From the following particulars of three jobs of a manufacturing company, ascertain the
total cost of each job and selling price of each job. Assuming that profit mark up 25% on
selling price.
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Particulars Job-A  Job-B Job-C
Materials Rs. 1600 2000 2400
Wages Rs. 800 1000 1200
Direct expenses Rs. 160 200 240

Works overheads is 50% of prime cost and office overhead is 20% on works cost.

7. A product passes through 3 process ‘X’ Y’ and Z. Normal wastage of each process is as
follows.
Process ‘X’=5%, Process ‘Y ’=10% and process Z=15%. Wastage of process X was sold
at Rs. 2 per unit, that of process Y at Rs. 4 and that process °Z’ at Rs. 5 per Unit. 1,000 units
at Rs. 3 per unit were introduced in process‘X’. The output of each process passes direct to
next process and finally finished stock. The production overheads are recovered at 100%
of direct wages. The other expenses were as follows.

Particulars Total Process-X Process-Y Process-Z
Direct materials o D600 1980 2962
Wages 9000 2000 3000 4000
Production overhead 9000 . - .

Prepare process accounts.

8. The following information relates to a building contract for Rs. 10,00,000

2020 2021

Rs. Rs.
Meterials ‘ 3,00,000 84,000
Direct Wages 2,30,000 1,05,000
Direct expenses 22,000 10,000
Indirect expenses 6,000 1,400
Work certified 7,50,000 10,00,000
Work uncertified 8,000 -
Materials of site 5,000 7,000
Plant issued 14,000 2,000
Cash received from contractee 6,00,000 10,00,000

The value of plant of the end 0f 2020 and 2021 was Rs. 7,000 and Rs. 5,000 respectively.
Prepare:-

i)  Contract Account.
ii) Contractee account for two years.

[P.T.0.
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9. Following expenses were incured by a transport company on two Lorries for 25 days.

Particulars Lorry ‘X’ Lorry Y’
Driver’s wages 8,400 8,500
Cleaner’s wages - 5,600 6,200
Diesel 30,000 45,000
0il 3.500 5,000
Depreciation 14,400 12,200
Repairs : _ 5,600 5,600
Supervision 3,200 3,200
Garage rent 5,600 4,200
Road Tax 3,600 3,600
Other overhead expenses 2,800 3,200

- Lorry “X” curried 100 tons of Raw materials coverd a distance of 3,000 K.M. in 25 days
and Lorry ‘Y’ 120 tons at Rawmaterials and covered or distance.of 4,500 KM. in 25
days. -

Find out the cost per K.M. and cost per ton Kilometers by preparing an operating
cost sheet of two Lorries.
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Reg. No.

V Semester B.Com. Degree Examination, April - 2022
COMMERCE
Financial Services
(CBCS Scheme)
Paper : F 5.4

Time : 3 Hours Maximum Marks : 70
Instructions to Candidates:

Answer should be Written completely either in English or in Kannada.

SECTION - A
QPN — D

Answer any Five of the following questions. Each carries Two marks. (5x2=10)
BRRYTTECR I IJRIR L0SOA. TS Gv3TE 2 ©OINW.

1. a)

b)

c)

d)

8

What do you mean by financial system?
TEOTOAD déam; oD OTERCIT?

Write any- four financial services available in India.
RTRY ORI O30T TOLY, BETORD REBNTTY 20TOW0.

Who is a Factor?
@Szos DOTT OIRTIY?

Give the meaning of consumer credit. -
no®s OB OBHE DD eds.

Expand CRISIL and CAMEL.

CRISIL 253, CAMEL o3oa, 9%0R.

Who is an angel investor?
0BT BPRFTT C3RTD?

What is discount market?
D3NS WIRTOTE, 20TBEeR?

[P.T.O.
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SECTION-B
DN - W

Answer any Three of the following questions. Each carries Five marks. (3x5=13)
o3RRI FRTy BFNET WI0A. T ¢030E 5 0N,

2. Elucidate the structure of indian financial system.
RT8e0D BEATORD a’sédﬁ@aﬁb Te3hioD, WEOA.

3. Write a note on venture capital funds.
mammém 20BTY PNE PO &33395 200000.

4. Write the conditions of registrations as a stock broker in India.
RUSTY T BRLFT R, SReoTBNTI ada’_aoﬁ%fﬁo{zadoma.

5.  Why do companies go for leasing of assets? Explain.
SoTAND SANY THERN 03 RRIHER? DWOA.

SECTION - C
QN — A

Answer any Three of the following questions. Each carries Fifteen marks. (3x15=45)
CRTYTRTETR =T TPAEN SVZDA. T3 evgT3, 15 LOBNO.

6. Explain the role of SEBL in primary and secondary market.
TOPNT T BIRTIEWT BRTEDY SEBI 0% 03w, w@E0A.

7.  Explain the procedure for credit rating of a company.
F0TIOD FREF B3O DTORTRY VA

8. Discuss the role & functions of depositories.
BeRedNS 0T, R FODENRER, BB A

9. Give the meaning of financial services. Explain the characteristic features-& problems of
financial services sector. .
TeoToR BeWNS WHPFHZY LR. BeoToRd AeTRBROOPT DT VLN I, AR,
QWOA.
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Reg. No.

V Semester B.Com. Degree Examination, April - 2022
COMMERCE (Finance - Elective)
Advanced Financial Management
(CBCS Scheme)
Paper-FN 5.3
Time : 3 Hours : ' Maximum Marks : 70
Instructions to Candidates: '

Answer should be in English.

SECTION-A
Anéwer any Five Sub - Questions. Fach Sub-question carries 2 Marks. (5x2=10)
1. a) Define Financial Managément.
b) List any Four Profitability Ratios.
| ¢) Whatis Cost of Capital? |
d) What is Beta?
¢) Define Corporate Valuation.
f) What is take over?
g) Whatis Demerger?
SECTION-B

Answer any Three questions. Each question carries 5 Marks. (3x5=15)
2. Explain major categories of Corporate Restructuring.

3. Calculate the future value of annuity of Rs.5,000 deposited at the end of each year at 6%
for a period of 5 years.

[P.T.O.
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From the following Balance Sheets of A.Ltd. Prepare common size Balance Sheet.

Particulars 31-3-2020
Rs.

Share capital 2,00,000
Reserves and Surplus 1,00,000
Long-term loans 2,00?000
Creditors 3,00,000

8,00,000
Buildings 2,00,000
Plant 2,00,000
stock 3,50,000
Cash 50,000

The following details of a ‘X’ Company

Particulars

Total Debt

Total Equity

Debt to Equity Ratio
Tax rate

Calculate Beta of Company

31-3-2021
Rs.
2,50,000
- 1,50,000
1,00,000
4,00,000
~9,00,000
2,50,000
2,50,000
3,25,000
75,000
~9,00,000
Company X
140 Crores
350 Crores
40%
30%
X.

Assume Calculated beta of similar co.Y. is 1.1.
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SECTION-C
Answer any Three questions. Each question carries 15 Marks. (3x15=45)

6. Briefly explain the approaches to Practice value Based Management.

7. XYZ Co. Ltd. has the following capital structure.

Sources of Finance Amount After Tax _
Rs. l Cost %.
Debt Capital 15,00,000 4.0

Preference shares
Rs.100 each 5,00,000 8.5
Equity share capital

Rs.10 each 10,00,000 11.5
Retained Earnings _ 20,00,000 10.0
50,00,000

The Market value per equity share is Rs.28 each Calculate weighted average cost of
capital.

i)  Based on book values.
i) Based on Market values.
8. Following is the condensed income statement of a film for the current year.

Particulars Amoumnt

Rs.(in lakhs)

Sales Revenue 500.0
Less:- Operating cost 300.0
Interest _ 12.0

=~ 318

Earnings before tax 188.0

Less:- Tax at 40% 75.2

Earnings After Tax . 112.8

[P.T.O.
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The firms existing capital consists of Rs.150 lakhs equity funds havings 15% cost
and Rs.100 lakhs 12% Debt.
Determine Economic value-Added (EVA) during the year.

9. Company ‘A’ plans to acquire Company ‘B’. Following are the statistics of Companies
before the merger.

Particulars A . B

| Rs. Rs.
Market value Vper share 50 | 20
Number of shares 2,5_0,000 - 1,25,000
Market value of the Firm 1,25,00,000 25,00,000

The merger is expected to bring gains, which have a Present Value (PV) of
Rs.25,00,000 Company ‘A’ offers 62,500 shares in exchange for Rs.1,25,000 shares to the
share holders of Company B. Calculate the Net present Value (NPV) of the merger of the
Two Companies.
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Reg. No.

V Semester B.Com. (LSCM/BCTT/Travel/Tourism Degree Examination,
March/April - 2022
INCOME TAX-I
(CBCS Scheme Regular)
| Paper: 5.1
Time : 3 Hours Maximum Marks : 70
Instructions to Candidates: . '

Answers should be in English only,

SECTION-A
Answer any Five Sub questions. Each question carries Two Marks. - (5%2=10)
I. _a) State the meaning of Deemed Assessee.

b)~ Expand ITAT and CBDT.

¢}~ What do you mean by Previous Year?

d)” What is Arrears of salary?

,.ﬁ)“"’_l Name any two exemptions under section 10.
£~ What do you mean by Incidence of Tax?

gl Whoisaperson?

: SECTION-B . 7
Answer any THREE sub questions. Each question carries 5 Marks. (3x5=15)

27 Mr. Govardhan an Indian citizen left India on 22-9-2020 for the first time to work as an
officer of a company in Germany. Determine the residential status of Govardhan for the

assessment year 2021-22.
3.  Write the difference between Capital receipts and Revenue receipts.
A State whether the following are agriculture income or not.
ay Remuneration received as manager of an agricultural farm house.
b) Income from poultry farming.
c) Income from interest on simple mortgage of land used for agnculture
d)” Income from sale of plants from nursery.

¢)  Rent from house property situated in a village.

[P.T.O.




(UL E AT ' @ 34521

" From the following information compute net annual value of house property for the

AY.2021-22
PARTICULARS Rs. |
Municipal Value - ' 1,20,000
Fair Rent - 1,30,000
Standard Rent 1,10,000
Annual Rent, if property is let out throughout the previous year 1,26,000
Unrealized Rent of previous year ' : 10,500
Vacancy period . 5 1 month
Municipal tax paid by owner in the previous yeaf 17,000
Municipai tax paid by tenant in the previous year | 6,000
SECTION-C
Answer any Three Sub questions. Each que&‘:tion carries 15 Marks. (3x15=45)

6. Mr. Muni Raju submits the following particulars of his income for the assessment year
202122 | '

a) Royalty income recéived from the Govermneﬁt Company Rs.42,000.

b)  Income from business earned in Afghanistan'Rs.52,000 of which Rs.25 000 is recelved
in India (Business is controlled from Bengaluru). '

¢) Interestreceived from Mr. Balu a non - resident against a loan provided to him to run
a business in India Rs.50,000.

d) Received Agricultural Income in Mysore Rs.20,000.

e) | Income from business in J aipur Rs.40,000, Business is controlled from France and
Rs.8,000 is remitted to France.

f)  Share of profit from HUF Rs.2,00,000.

g)  Dividends from UK based company Rs.25,000

h) Dividend received from a Domestic company 5,000.
i) Interest earned on post office Savings bank A/C - 3,000.
j)  Gift in cash from Mother - 60,000.

k)  Gift in cash from friend - 60,000.

1)  Agricultural income earned in Bhutan - 38,000.

m)  Past untaxed foreign income brought to India - 30,000.
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Find out his total income if his Residential status is:

-

a)
b)

¢)

Ordinary Resident.
Not-ordinary Resident.

Non-resident Indian.

M. Rajesh is an employee of HMT Ltd. Bangalore. He supplies you the foIlowiﬁg

particulars of his Income for the previous year 2020-21.

a)
b)
¢)
d)
¢)
f)

g)
h)

i)

j)

by the company.

Basic Salary 30,000 per month.

Dearness Allowance 18,000 per month.

Family Allowance 1,800 p.m.

Education allowance for two children at 700 p.m. per child.
City compensation allowance 1,600 p.m.

House Rent allowance Rs.6,000 p.m. but he pays Rs.9,000 per month as ‘actual
rent.

‘Company has paid his last years’ income tax amounted 18,000. -

Company has paid Rs.20,000 for travelling to and from branches (Amount
fully utilized). - : e

Mr. Rajesh has contributed 14% of his salary towards RPF and equal amount

Interest on RPF is 30,000 at 15% per annum.

Compute his salary income for the assessment year 2051-22. (Ignore Alternative Tax
Regime under Section 115BAC). i

8<~ From the following information calculate the income from salary of Ms. Supriya for the
A.Y.2021-22. (Ignore New Tax Regime under Section 1 15BAC).

a)
b)
c)
d)
e)
1Y)
)

h)

Basic salary Rs.40,000 p.m.

Dearness allowance 60% of basic forming part of salary.
Commission Rs.18,000.

Bonus Rs.60,000.
Employer and employees’ contribution to SPF is 15% of salary.

Interest credited to SPF is Rs.12,000 at 10% p.a.

He is also provided with a car less than 1600 C.C. by the employer both for personal
and official use. All the expenses of the car including salary of the driver are paid by
the employer.

Free telephone at his residence is provided by the employer valued at Rs.10,000.

[P.T.O.
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i)  Professional tax paid by him Rs.200 p.m.

34521

j)  Gift voucher worth Rs.13,000 were issued by the employer.

b

2. Mr. Dewnash owns three houses in Bangalore. From the following particulars compute

his taxable income from house property for the Assessment Year 2021-22.

| Particulars House A House B House C
“Annual Fair Rent ISWO_{_)“O 15,000 12,000
Municipal Valuation 15,000 20,000 10,060
Rent per month 2,000 1,500 1,250
Nature of usage Let-out Let-out Let-out | -

s For Residential for Office For Residential

Purpose purpose
- .- Construction Started L = -

Construction Completed
Repair Expenses 1,000 - 4,000
Collection charges 2,000 500 =

| Interest on loan

.| For Construction 10,000 -- -
For marriage of Daughter -- . 6,000 =
For repair - - 1,000

Municipal tax is 10% of municipal valuation. Municipal tax of House A was paid by
owner but Municipal tax of house B was not paid upto 31 March, 2021. Municipal tax
of House C was paid by the tenant. The House C was vacant for four months during the
previous year 2020-21. Compute the Income from house property for the assessment
year 2021-22. -
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Reg. No.

V Semester B.Com. Degree Examination, March/April - 2022
COMMERCE
Advanced Accounting
(CBCS Scheme)
Paper: AC 5.3
Time : 3 Hours Maximum Marks : 70

Instructions to Candidates:

Answer should writting in english only.

SECTION - A

Answer any Five sub-questions. Each sub-question carries 2 marks. (5%2=10)
1. a) Whatare non-banking assets?

b)  What is meant by reinsurance?

¢)  Givetwo examples of contingent liabilities in banking companies.

d)  Givethe meaning of reserve for unexpired risk.

e) Whatis ex-interest and cum-interest of securities?

f)  State any two reasons for the Buyback of shares.

g)  What do youmean by the term “ Vesting period’ under ESOP?

SECTION-B
Answer any Three of the following; each question carries five marks. (3x5=15)

2.  From the following, calculate the benefits paid as per Insurance Regulation Act.

Claims by death Rs. 1051500
Annuities Rs. 202250
Surrenders Rs. 282000
Bonus in cash Rs. 19500
Bonus in reduction of premium Rs. 25500
Additional Information :

Further bonus in reduction of premium Rs. 12500

[P.T.O.
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3. Calculate Rebate on Bills Discounted for the year ended 31.03.2021.

Date ofthe Bill | Amount (Rs) | Period in months | Rate of Interest
12-01-2021 42000 5 8.0%
15-02-2021 96000 | = 8.25%
18-03-2021 58000 3 8.5%

4.  Indus India Ltd decides to buyback 10% of Rs. 100 crores paid up equity capital. The face
value per equity share is Rs. 10 but the market value per share is Rs. 15. Indus India Ltd
takes the following steps for buyback of shares:

a)  Toissue 14% debentures of Rs. 100 each at par for face value of Rs. 10 crores.
b)  To utilize general reserve.

¢) To sell investments of Rs. 7 crores for Rs. 8 crores.

d)  Tobuyback the shares at a market price.

e) Toimmediately cancel the shares bought back.

Journalize the above transactions.

5. Zenith Limited has its Share Capital divided into Equity Shares of Rs. 10 each. On 01.10.2020,
it granted 70000 Employee’s Stock Option at Rs. 50 per share when the market value of
each share was Rs. 120 per share. The option is to be exercised between 15% December
2020 and 31* March 2021. The employees exercised their options for 55000 shares only
and the remaining options lapsed. The company closes its books on 3 1%March every year.

Show journal entries (with narration) as it would appear in the books of the company up to
31* March 2021.
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éECTION -C
Answer any Three questions. Each question carries 15 marks. B x15=45)

6.  The following are the balances of Mysore Bank Ltd. Prepare the Profit and Loss Account
and Balance Sheet as on 31.03.2021.

Debit (Rs) Credit (Rs)

Interest & Discount 390000
Share Capital 900000
Reserve Fund 450000
Deposits 1200000
Telegraphic transfer 300000
Traveler’s letter of credit 450000
Gift Cheques 90000
Pension fund 150000
Borrowings from Bank 112500
Unclaimed Dividend 37500
Rent 30000
Commission 75000
Profit & Loss Account as on 01.04.2020 60000
Bills payable 15000
Buildings 375000
Money at Call & Short Notice 412500
Furniture 60000
Cash in hand 412500
Cash at Bank 487500

. Investments 262500

- Loan, cash crcdi?: .& overdrafts 1710000

 Interest on deposits i 262500

[PT.O.




RO @
Audit fees

Salaries

Director’s fees
Printing & Stationery
Depreciation
Non-Banking Asset
Other Expenditure

Adjustments :

a)  Provide Rs. 7500 for rébate on bills discounted.
b)  Bills for collection amounted to Rs, 15750.

¢)  Provide Rs. 3750 for income tax.

15000
75000
7500
7500
11250
150000
11250
4260000

d)  Directors propose 5% dividend on Share Capital.

34523

4260000

7. From the following balances of India Insurance Company Limited as on 31.03.2621,

prepare
a)  Fire Revenue Account.

b) Marine Revenue Account.
c) Profit & Loss Account.

Fire (Rs.) Marine (Rs)

Bad debts 15000 36000
Reserve as on 01.04.2020 750000 2460000
Claims paid & outstanding 570000 1140000
Commission paid 270000 324000
Additional reserve as on 01.04.2020 150000 —
Premium less reinsurance 1800000 3240000
Management expenses 435000 1200000
Commission on reinsurance ceded 90000 180000
Auditor’s fees 9000

Director’s fees

9600
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Share transfer fees 2400
Bad debts recovered 3600
Depreciation 105000
Interest & Dividend received 42000
Difference in exchange (Credit) 900
Miscellaneous receipts 15000
Profit on sale of land 180000

In addition to the usual reserve, an additional reserve in case of Fire Insurance is to be
increased by 5% of Net premium.

8. The following are the balances extracted from the books of Life line Insurance Co. Ltd.
as on 31.03.2021.

Life Assurance Fund (01-04-2020) 2205000
Premium 315000
Management expenses 29835
Consideration for annuities granted 15930
Dividend paid 30000
Fines 138
Annuities 44130
Claims by death 119970
Claims by maturity ] 54630
Commission L 39677
Interest, Dividend & Rent 83192

[P.T.O.
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Income tax on interest

Surrenders

Bonus paid in cash

Preliminary expenses

Claims admitted but not paid

Outstanding premium

Stamps on hand

Annuities due but not paid

Government securities

Mortgages loan

Freehold premises

House properties

Share Capital

Furniture

Loans on company policies

©)

4590

32790

14175

300

120051

3750

600

33570

1306335

463665

750000

150000

600000

30000

300000

3452:

Prepare Revenue Accounts and Balance Sheet after taking into consideration the following :

a)
b)

Claims covered under reinsurance is Rs. 30000.

Further claims intimated Rs. 3750.
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Mr. Pradyumna makes the following investments during the year ended 31 March 202].

10/04/2020

01/05/2020

15/08/2020

20/09/2020
31/12/2020

31/01/2020
15/03/2020

Purchased 600000, 10% bonds in Religere Ltd at 120. Interest is
payable on 1% September and 1+ March. :

Purchased 10% convertible debentures of Likith Ltd. for

Rs. 12,00,000. Interest is due for payment on 1t October & ]
April.

Converted the debentures of Likith Ltd into equity shares of
Rs. 100 each. The market value of these shares on this date was Rs.
20. The accrued interest to date was paid.

Received 10% dividend on equity shares of Likith Ltd.

Likith Ltd announced rights issue of 1 equity share for every 10

equity shares held at Rs. 12 per share. The market value of shares
was Rs. 25. '

Mr. Pradyumna sold the rights shares for Rs. 25 each.
Mr. Pradyumna sold 5000 shares at Rs. 25 each.

Prepare separate accounts for each category of investment. Ignore tax and brokerage

charges.
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Reg. No.

V Semester B.Com./BCTT/LSCM B.Com. (Tourism) Degree Examination,
March/April - 2022

COMMERCE
Costing Methods
(CBCS Scheme Regular/Repeaters)
Paper : 5.4

Time : 3 Hours Maximum Marks : 70
Instructions to Candidates:

Answers should be written completely either in Kannada or in English.

Section - A
PN - @
Answer any FIVE sub-questions. Each sub-question carries 2 marks. - (5%x2=10)
B2 TUNT CIRRYTITTR 9T YO B3NN VSR, TSR0 BIN QTR LSOFNED.
1. a) Give the meaning of work uncertified.
‘B SNe3eB0RT R BHFEY S9N
b) - What is job casting ?
VREOR 323, edE D IAFOTTES ? _
¢) Mention any two industries where operating costing is used.
FICDF VR BETD %3, ﬁcééoﬁa?% SVBOIREARIT CIRTTITTR NTED FTWOTNII),
SPA. :
d) Give the meaning of ‘by-products’, with suitable example.
‘R QUBFZAD’ D0TTEH0LIT), RR% QUEIBOECIRODN BT FA.
e) What is retention money ?
UPABROTE (TOTD) BEL DOV ?
f)  What is 'Escalation Clause' ?
‘BOFS (208) ROy omdead 9
g) What do you mean by -abnormal process loss' ?
'STOBRT, B30IR X, HOWOES ?

[P.T.O.
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Section - B
RN - B
Answer any THREE questions. Each question carries 6 marks. (3%x6=18)
33 39N QIRRTTTR Swedd I BINOT ev301. T, éo&raocﬁﬁﬁ &30 L08R,
2.  Briefly explain the different methods of costing.
33’23@9@&-‘0&333.‘05 AN @mﬁﬁ%ﬁ&b No%wmﬂ WO,

3. Annual demand for the component: 9000 units; set-up cost per batch Rs. 900;

carrying cost per unit of production: 2% per annum, manufacturing cost per unit
Rs. 90; :

Calculate: a)  Economic Batch Quantity and
b) find out the number of batches to be produced to meet the annual
requirements.
WOTD WD TOXFT WeR : 9000 esEned, AT BB, 1 TR.900 (T& mooars/
xmxga; WIXFT NOBO Ao, HFow S w’&%ﬁﬁ) 2%, wu'%dm S; 9r.900 (I8
PLFT). B3 ATTNYOT
a) AOJFB LTI a’mmm TR

b) oars zﬁe@éo:bm TpRT R e DReED WD, 7o) (23 asg)ﬁeéa“n

FOBIHLBOAD.

4. The following information relates to Contract No. 971
Particulars Amount (Rs.)
Contract Price - 80,00,000
Materials 7,00,000
Labour A ~5,00,000
Tools & Equipment 5,00,000
Plant 12,00,000
Materials at site 1,00,000
Tools & Equipment at the end : 4,50,000

Depreciate Plant @ 5%
Work-in-Progress

Work Certified : 12,00,000
Work Uncertified = 2,00,000
Cash received 10,060,000
Date of commencement of contract 01-06-2021

Prepare Contract account as on 31 March 2022.
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B NS dWoNEd nén $0.971 @ﬁ ROWORR.

RNBONLY BRE  (OR.)
ménod =Hed 80,600,000
TN, 1D 7,00,000
3RO ‘ 5,00,000
w0TO BB FOFTH/FH 5,00,000
03008, Ny 12,00,000
IBETZTET ATON,NG 2083 TP 1,00,000

[OTT ey TeSTRAY Be8(31.3.2022 8Y)  4,50,000
oh08,RY FoedS BT 5%
T RECHATHN Fes:

T, BRe3eT0NT BOR 12,00,000
T RRe3e30RE For 2,00,000
3R ReRTT0T TES Fed 10,00,000
rb8rRoD 52,0055 Bmeos 01-06-2021

31.03.2022 g msm@.ﬂ%w WAEFE BOLORAT0Z nén <o. 971 © 333?9’03’3"&% BCTTI0R.

A Transport company is running 5 busses between two cities which are 100 Kms
apart. The seating capacity of each bus is 50 passengers. The actual passengers
carried were 80%. Each bus made one round trip per day. All the busses run on all
the days of the month. Calculate for the month of January 2022: a) Total Kms and
b) Total Passenger Kms.

208 FR07 FoFedn 100 3.20¢. $03TRTHT I0E> INONE m_% 5 WANTRY, LBmdET.
5 WAT ST AT 50 FB,0dReBD. B odRBAT Koeg %cdrasa’)% Aoas, : 3. 80
o=, %,8 WAD, OTF 20T b 20w INIDOT 2R 0T JINTZ Breen SDITR) WIS,
DY, WAL Sones e, OFNYLR BowoR8E,

23 20eIT QWTNLOT =0 2022 %ﬁ BOWORATOZ  a) WD, 3.c0e.nEDd 3B b) 283,
&, c3meds 3.50¢.M¥RY, TOTEEBOWD.

A factory producing article "X’ also yields Y and Z as by-products. The Joint cost of
manufacture and subsequent expenses are as below:

Particulars Joint ; Subsequent Expenses (Rs.)

Expenses X Y Z

(Rs.) - _

Materials 1,00,000 20,000 10,000 5,000
Labour 50,000 . 15,000 10,000 2,500
Overheads 25,000 5,000 5,000 2,500
Total 1,75,000 40,000 25,000 10,000
Selling Prices 2,50,000 - 1,00,000 75,000
Estimated profit on selling price 35% 40% == 509

Show how you would propose to apportion the joint cost of manufacture, under
reverse cost method.

[B.T.O.
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=

2,00 TaRFRODEY Feo BU8F X' e FUR0RTR 'Y' w8y 'Z' 20w $UB BT
BOIRTINITR. VNY 2ot ABFS Tonp ST0TONT M¥FS QRTINS B3 3$30B0833.

RWJONTY 2083 B0OTRATSl WY ou Tve) )

DWIFNED X Y Z
(on.)

0N, NEH 1,00,000 20,000 10,000 5,000

1019) 50,000 15,000 10,000 2,500

Doy, 25,000 5,000 5,000 2,500

2830 1,75,000 40,000 25,000 10,000

IROWT WIS 2,50,000 1,00,000 75,000

[RoIRE TS0 0O '

LS00 O3 35% 40% 50%

083 93333&-‘?1@’5% cdnw 0ed 5oa?o&)cﬁomcﬁzd_gL 8330980 SDWOF eﬁ%gmdw DTOITE). %WOLS
SRDENTT) DYPNAT T3 0T, BOIRVA.

Section - C

ERn - A
Answer any THREE questions. Each question carries fourteen marks. (3x14=42)
83 TINT CIRYRETR DD B, Rr QTR T S03R0EER, BOTC, BSOFTILY.

7. Product 'A' passes are through three process for completion. For the month ending
December 2021 the following the details:

Particulars Process

Total I 1 I
Direct materials (Rs.) 74,620 10,000 30,000 34,620
Direct labour (Rs.) 2,90,000 . 2,00,000 40,000 50,000
Direct expenses (Rs.) 75,000 40,000 20,000 15,000
Production overhead (Rs.) 15,590 4,350 8,710 2,530
Normal loss 3% 5% 10%
Sale of scrap per unit (Rs.) 10 30 50
Production in units 950 900 | 830

1,000 units at Rs. 100 per unit were issued to process I.
Prepare process accounts, abnormal loss and abnormal gain account.
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)

30M9208,3 3 5E Soried %N, . ;
DSOS 8, 030190

A SRD D BT Fosnd Fcneon AT ST, BFows® 2021 3

a.,uo“ I I m
3ed TR, TN, (Te.) 74,620 10,000 30,000 - 34,620
s8¢0 3rd (On.) 2,90,000 2,00,000 40,000 50,000 .
Seo DFnsd (Te.) 75,000 40,000 20,000 15,000
wTm Bedpnd (de.) 15,590 4,350 8,710 2,530
RN, 55, 3% - 5% 10%
%G (scrap) @noews 3¢
(B Buss) (o) : 10 30 50
SOTOT FFeITEd 950 900 830

S8 Frg 100 da.nivos 1,000 gesnesy 1 e NTTI T3, ook JeBAT.
CoSTT T, cdod DD BT 20IERY Tt SRR, 37, W% SmIRE, oo
JRIRIR), SoinoR. :

8. A transport service company is running 4 buses between two cities, which are 150
Kms apart. Seating capacity of each is 60 passengers. The following particulars were
obtained from the books for the month of. November 2021,

Wages of drivers, conductors, cleaners Rs. 2,40,000
Diesel, oil etc., Rs. 4,00,000
Salaries of office staff Rs. 1,00,000
Repairs and maintenance Rs. 80,000
Taxes and insurance Rs. 1,60,000
Depreciation 7 Rs. 2,60,000
Interest and other charges Rs. 2,00,000

Actual passengers carried were 90% of the seating capacity. All the busses run 25
days of the month. Each bus made one round trip per day. Find out:

Cost per Kilometer and b) Cost per Passenger Kilomieter

2000 TR Fe RoFedn 150 3.Q0¢. 03028 23> Snong g, 4 LRI,
LEDSS. T8 VAR SIS BT, E 60 B,030e58. SHoesc 2021 3 BowoRs esrs
STTNTY 0303 J5B8,3 TASRLT TR T TR RTINS,

WOTTY, JOFBITD B EeIT Y WP (3RO) Rs.2,40,000

-0

Rlelnr ] %eeﬂ%@, AT/ D Rs.4,00,000
Fe3ed AWOBOD Tows Rs.1,00,000
TR T ITFT Rs.80,000

3on B A Rs.1,60,000
AR Rs.2,60,000

WE =08 933 SBEND ‘ Rs.2,00,000

[PT.O.
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ARG HoIRO Wyodnesss Foss, Fe. 90 T, e WAOMSD Sonesd, 25 OINE
RE0RBS. B LR OTF wom WD L.0TH SRSRE WIHO Sncg Eeen =B
WO0BT.

Noﬁ 2) BE 2,00 ILREVHTR IRLOT M DB b) T3 10w o
%ci:a\a}e&acfﬁ’ 3Nem VWS airaeﬁ@;ai) TOR &,

9. A company have undertaken the construction of a building on 01-07-2020 for Rs.
99.00,000. The details regarding contract as on 31-03-2021 are as follows:

Partlculars Amount (Rs.)
Materials: ;

Direct from suppliers 25,00,000
From Stores 5,00,000
Direct labour 25,00,000
Direct expenses 2,00,000
Value of plant installed at site 10,00,000
Administrative overheads chargeable to the contract 50,000
Materials returned to suppliers 25,000
Materials returned te stores 5,000
Materials on hand at site 22,500
Accrued direct labour 30,000
Accrued chargeable expenses 10,000
Sub-contract cost 3,00,000
Work Certified as approved by the architect 60,00,000 .
Work Uncertified at cost 2,00,000

Cash received 90% of work certified

Charge depreciation@ 15% p.a., on the value of plant

Prepare: 1) Contract Account and 2) Contractee Account

LOW FOTRCID 90 OF CRTROLNY FWIE. IWRERE Mogriod FIODFBT),  DJ90T
01-07-2020 oz §1e08E. 31-03-2021 T FFodB Sedn TOSHR R0LOPAT WeSSrith
3 FIB0E0SR.

LDWTNT ) W2 (Ow.)
R0N, N&L:

Ndw@wmdaow SeTen ERslav) 25,00,000
WOENROW0T E%faéoam 5,00,000
=eo 3Rd 25,00,000
ST DWIFNLD 2,00,000 .
?Ddeé%cﬁ@ QAT O30, TETNF 10,00,000
SRR FOWobAT eszs@saes e e 50,000
*’duoammdbﬁ &0OTONSE wmﬁ ned 25,000
WO LHODTINAT "?siaﬁ nLd 5,000
E’Oﬁeémer’)@a@&)d)w TN, ﬁ@o 22,500
8eo 3pOaDH IADI (NOZS@) 30,000
JeT NG wWos (B0233) 10,000
POB-rIRD R 3,00,000
m?\‘oJéQ)o&Jod @m%eﬁéﬁtﬁ% FOR 60,00,000
R, DREIFORT FOF 2,00,000
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10.

87 DRTHOOT BB Ted - TH,RReIBOIT 2ong Fe.90 O,
0003, HITNY BoedS AWFY - ward 15% :
) &R w08 2 (2) moer deasEs SRFODTY, FoiRdA.

The following expensés were incurred on Job No. J-1234.

(a) Direct Materials Rs. 45,000

(b) Direct Wages: :
Department X 25 hours @ Rs. 90 per hour
Department Y : 20 hours @ Rs. 50 per hour
Department Z - 15 hours @ Rs. 80 per hour

(c) Works overheads of these departments were estimated.as under:
Department X Rs. 40,000 for 2,500 working hours
Department Y ; Rs. 60,000 for 3,000 working hours
Department Z Rs. 30,000 for 2,250 working hours

(d) Office overheads were Rs. 2,00,000 when total direct wages paid in ail these
departments were Rs. 5,00,000. It is the practice to recover office expenses as
a percentage of direct wages.

You are required to calculate the cost of Job No. J-1234 and the price to give a

profit of 50% on selling price.

B3 TYBOE DWFNEd VB o J-1234 R ROWORT.

(a) e TN, Red | 3.45,000

(b) =3 B0
Qg X 25 rlosnvd, ©8 RotR de. 90 God
Qe Y 20 Rosnsy, TS RowdR dp. 50 Jod
PR Z 15 rotdned, =8 Rotdk ce. 80 Cod

(©) B priny DaRrs RediERR, & 0BT BomRd IRFCING.
Qg X 2,500 3oRE Rowner Ge. 40,000
Qort Y 3,000 303 Rotinier dn. 60,000
ot Z — 2,250 30RE Rowiner de. 30,000

d = a9 DPARG B3 2O SeSy Te. 5,00,000 nemon, §e3ed daeelag’j@
T2.2,00,000 neondd3s. amdadne mOBRE ol SPRE TFT Feed -
eI e BRAOD Jedmordd BRwem soee PORTMIZT.

W& 0% J-1234 T 2830, daiﬁﬁgi TIMR WRCRT B3ded e Se. 50 O, 703

WTOWOS [RTEIT ?jefodoa'igl FORIEBOUD. .

[P.T.O.
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11. In manufacturing the main product EXE, a company processes the resulting waste
material into two by-products X1 & X2. Using the reverse cost method, you are

required to prepare a comparative profit and loss statement of the three products
from the following data: ‘

Total cost upto separation point was Rs. 1,36,000.

Particulars Main By-Product
Product EXE X-1 X-2
Sales (all production) 3,28,000 32,000 48,000
Cost after separation ; ——- 9,600 14,400
Estimated profit % on selling price 2 20% 30%
Estimated selling expenses as a percentage to sales 20% 20% 20%

2,030 FOBICT WP emre:glmci EXE oda), 3C3RNORToN, YUPT @éuﬁd@} X1 @08
X2. 200 ATBED GUB-YOBINTS), BoIR0ORITH. B3 N BeL3TORD WINPT dozD
DWFE tﬁzmﬁzsad DOTTRY WHRBROT BOVTIZT oy R IHT mgpdoabd 3035204
OZF D B3, CBRRWFIONG 2830, OF 8».1,36,000.

QITNED SIO0) NT- VST,
v, EXE X-1 X-2
BP0 (JoPEF LUTTF) 3,28,000 32,000 48,000
BN T3;e87ie0E FoBTE DdF — 9,600 - 1414060
SPTRT BSE0D Foees 90wt BeBmEIT0 oY ? 20% 30%

SpoeRE 268 0w Je3EmI0 RRoewd e 20% | 20% 20%
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Reg. No. |

V Semester B.Com. Degree Examination, April - 2022 -
COMMERCE
Practicals On Skill Development
(CBCS Scheme 2019-20 Regular)

Time : 2 Hours Maximum Marks : 50
Instructions to Candidates:

Answer should be completely in English.

SECTION - A
I  Answer any Four questions. Each question carries Five marks. (4x5=20)
" 1. Mention the powers of Commissioner of Income Tax.

2.  Ascertain the Residential Status of an Indian citizen with one imaginary date of
departure from India and one imaginary date of arrival to India.

3. Find out Gross Annual Value of house property of Mr. Anand with imaginary.
a) FairRental Value -
b) Municipal Rental Value '
c) Standard Rent
d) ActualRent

4. Draftan clean audit report of a company with imaginary data. -

5.  Write the verification procedure with respect to freehold land and building.

SECTION-B _
II.  Answer any Three questions. Each question carries Ten marks. (3x10=30)

6. Calculate the taxable salary of Smt. Rama. For the assessment year 2021-2022 with
nine imaginary figures.

7.  Calculate the Income from house property of Smt. Ramya. For the assessment year
2021-2022 assuming House-I (Self occupied) and House-II (Let out). With imaginary
figures.

8. Prepare an audit plan and programme of a trading company, assuming that you are
an auditor of a trading company, with i imaginary information.

9, Ifyou are the auditor of XYZ Company. What documents to be necessarily verlﬁed

in the Audit Process.




